Jlana q)yl-mlmn fix) = X'—5x+8. Haiiznte f (x)

A) 3x—-5x.

B) 3x’-5x+8.

C) x*-10x.
D) 3x™-10x.

E) 3x'—10x+8,

10 kaacc. [IpousBoanas pynkuuu

Haiigure nponssoauyio dyHKIHK g(X)= 154
5

A) Sx+ 3=
B) x*+x™=2x’.

C) =X +=—x=-—X.
2
D) x*+x*x’.

E) —x%—x"- —x

3

3
x—

Haiinute npon3BoaHyo GYHKIHH W(X)=(X=5)(2x~5)

A) 4x-15.
B) 4x’-15.
C) 2x-15x.
D) 4x+15.
E) 2x’-15.

Haitmre nponssoanyio dyskin £(x)= 22 +1

A) 4 .
2x -1

B —4.
2x+1

Q) 4

(2x+1)*

p -4

(2x-17

E) =4x

2x-1)°

2x-1

JHana tb}yﬂmm g(x)=21‘ =sinx+7.Haiiaure g’ (x).

A) 8x'-cosx.
B) 8+ cosx.

C) 4%+ cosx +7.

D) 8x’ —cosx +7.

E) 8x+ COosX.

Jlana dyukums v(x)=x+.[c .Haiumre y' (x).

A) 142x.

1
B) 1+— .
X
o _ .
2-x
Dy 1+_ 1 .
2x
E) l+£.
2

b | =

x-i

T

10.

Haiiure h' (x)=x -tgx.

A)
B)
0
D)

E)

Haiiaure y' (x)= 2x°+ ctgx—5.

A)
B)
C)
D)

E)

Mana dynrums y(x)=4x + Jx + 2¢ Haiiqure y' (x).

A)
B)
)
D)

)

Xx-(sin2x +x).
cos” x
x-(sin2x—x)
cos® x
: 2
sin2x+x
cos’ x
sin2x—x* |
cos’ x
sin2x+x.

€os” X

12x%+ 1
sin” x
12x3- 1
sin” x
12x°—
sin® x
12x5+_1
sin- x
gt |
sin® x
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Jlana dynkuns f(x)=%"~x+3 Haiiznre ' (x).

A) " —6x-6,

x+3

B)
0
D)

E)

(x+3)°
x* +6x+6
x+3)°
2x-1
(x+3)
X +6x—6 2
(x+3)°
X' +6x
(x+3)°
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